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1. Please select one correct answer: For microprocessors, the words of a
machine’s language are called instructions, and its vocabulary 1is
called:

(A). An algorithm. (B). An instruction set. (C). A register.
(D). A complier. (5%)

2. Please explain what is “pipelining” approach in the field of computer
architecture. What are the advantages of “pipelining” approach used 1n
the architecture design of computer systems. (20%)

3. Please compare “write-through” and “write-back™ in the design of
cache systems. (25%)

4. Briefly explain what TLB is and what function 1t provides.(20%)




XA H2BF 2 R

5. The choice of associativity in memory hierarchy depends on the time
cost of cache miss and the hardware cost of implementation. Please
answer: (a). Discuss the advantages and disadvantages of caches
moving from direct-mapped to set-associative caches. (b). Compare
the different considerations for the choice of associativity in designing

caches, TLB, and virtual memory. (30%)




